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242 The manometer fluid in the manometer of Fig. P2.42
has a specific gravity of 3.46. Pipes A and B both contain water.
If the pressure in pipe A is decreased by 1.3 psi and the pressure :
in pipe B increases by 0.9 psi, determine the new differential T Wate“a,?[

reading of the manometer.
-.AL. Gage fluid

(8G = 3.46)

®m FIGURE P2.42

For The inital! contrguration . T R
ﬁq*%o[ﬁ)f&#h)'%a(’)zk@ /)

wheve a// /€nj77b are In £, When ;% decreases to a " and

P Increases +o )b The  heights of The Fluid columns Chonge
B . .
as Shown on ﬁgure For The +inal eontiguratios

£ *9, o (4-4) + Ja"’/ ﬂ?*gé')*a/;za (1+a) = 7515‘ (2)
Jubtmet Eg (2) fpom Eg. (1) 4 sbtain

i ’I
b + b;zomj—é;# &4),.&;2064): B -4

(H-%') - (4 -4)
A (a‘#zo‘a’ff)

or

. /
S/nce, 73-7/)} = /,3,“‘_.) ﬁa‘ié,: —0.9 psé, and %[:3%5/:20

(~oq . )misl) - (13 #.)(netzl)
o?(ézlf—é>(/_. 344) = 103 £+

a =

Gna  There fore
dh=ft+aa = aft +2(/03#) = Yot ##t
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